
Time: 10 Minutes Paper G. Science 8th Total Marks: 10

2nd Month, 2nd Week, 5th Day Syllabus: Unit # 3:  Exercise

Q.No.1 Encircle the correct answer from the following choices. (0.5×6=3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. You are different from your brother and sisters, this is called:

WWWW\\\\ZZZZLLLL¸̧̧̧ððððZZZZzzzzgggg““““VVVVÐÐÐÐZZZZ÷÷÷÷ÔÔÔÔttttBBBBCCCCìììì::::
(a) Variation p (b) Adaptation _“

(c) Hereditary zgZV$ (d) Mitosis âðI‹

ii. In humasn, the eye colour is developed due to the effects of:

ÅÅÅÅZZZZWWWW,,,,ZZZZ]]]]ÅÅÅÅzzzzzzzzÐÐÐÐááááCCCCììììXXXX _____ ZZZZ¨̈̈̈KKKKââââVVVV~~~~ÔÔÔÔWWWWçççç»»»»gggg8888----
(a) Diet pgZu (b) Environment âjw
(c) Genes 82.ç EG

EE (d) Both a&b ŠzâV b Zzg a

iii. Chromosomes are made of: ÐÐÐÐ¶¶¶¶ƒƒƒƒDDDD÷÷÷÷XXXX ____ ™™™™zzzzññññÎÎÎÎ''''××××
(a) DNA only Üse~Z+Z} (b) Protein only Üs6,z”
(c) DNA, protein and fats e~Z+Z}Ô6,z”Zzg¢54ø

E

G
H

(d) DNA and protein e~Z+Z}Zzg6,z”
iv. Reduction of chromosomes takes place during:

''''''''''''ÆÆÆÆŠŠŠŠzzzzggggZZZZyyyy™™™™zzzzññññÎÎÎÎ''''××××ÅÅÅÅggggiiii++++̈̈̈̈ƒƒƒƒCCCCììììXXXX
(a) Mitosis âðI‹ (b) Meiotic-I I- òZzS-

(c) Meiotic-II II- òZzS- (d) Both a&c ŠzâV c Zzg a

v. In humans, a sperm has 23 chromosomes egg cell has:

™™™™zzzzññññÎÎÎÎ''''××××ƒƒƒƒDDDD÷÷÷÷ÔÔÔÔZZZZrrrr----−−−−gggg‚‚‚‚rrrrììììXXXX 23 ZZZZ¨̈̈̈KKKKââââVVVV~~~~ÔÔÔÔZZZZqqqq----4444xxxx~~~~

(a) 23 chromosomes ™zñÎ'× 23 (b) 46 chromosomes ™zñÎ'× 46

(c) No chromosomes Ãð™zñÎ'×7 (d) 69 chromosomes ™zñÎ'× 69

vi. Zygote is formed by the fusion of: ÆÆÆÆ5555\\\\ÐÐÐÐiiiiZZZZ""""5555½½½½ðððð JJJJGGGG
YYYY

^̂̂̂ááááCCCCììììXXXX ______

(a) Two sperm cells Šz4xû (b) Two egg cells ŠzZr-û
(c) Two somatic cells ŠzÎzû (d) Sperm and egg cell 4xZzgZr-û
Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) What is the primary source of genetic variation? 74545ë EG

E
G
Hzk,~Zc»ãCŠ~fg=Hì?

(ii) What is the structure of DNA? Å‚|#Hì? DNA

Q.No.3. Write long answer.                         (3) ----����ZZZZ[[[[KKKKXXXX
(i) Gametes are haploid cells, what do you think what would happen if the gamets

forming a zygote are diphloid?
²-.54

ø

Y

GG
H45Õä

X
Fàû÷ÔW\Æìw~HƒÇZ¤/iZ"5½ð JG

Y

^¯äzZá
²-.54

ø

Y

GG
H

eöàƒV?
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